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| UNIVERSITY OF RUHUNA
.~ 2015/2016 Academic Year B. A. (Special) Degree - 2000 Level
| 2"! Semester Examination - March 2017

| STS 22633 - Demographic Techniques

| Answer four (04) questions only.
|

| Use of calculators are allowed.

| Time: 03 Hours
1

03.

01. “P(\)pulation register is the most efficient source among demographic data sources”. Discuss
this statement critically.

, (15 marks)
\

02. Pophlation data by age and sex collected for a certain
Calc‘;ulate the United Nation’s Joint Score Index using t

\

\

area is given in the following table.
hese data and interpret your results.

“ Age Group Population Population
\‘ Male Female
| 0-4 6 3

| 5-9 5 2

| 10- 14 17 9

\ 15-19 33 14

| 20 - 24 71 26

| 25-29 77 49

| 30 - 34 - 56 62

| 35-39 75 65

| 40 - 44 74 88

} 45 - 49 58 75

\ 50 - 54 67 72

| 55-59 57 44

| 60 - 64 54 24

| 65 + , 63 23

\

' (15 marks)
|
|
|

|
Hypothetical data for three countries are given in the followin
questiop using the data given in the table.

i

g table. Answer the following

Mid year, Country A Country B Country C
Popul:{tion by age
group
0-4 500 1500 500
5-39 4000 4000 5000
40+ 1500 500 500
Number of deaths
by age group
0-4 50 120 40
5-39 20 40 50
40+ 60

40 40 ! Lﬁq,

Paaca 1 Af2



04.

(a) Calculate Crude Death Rates for each country. (03 marks)

(b) Using the population in country A as the standard, calculate the Direct Standardized Death
Rates for counties B and C. (04 marks)

(c) Using population A as the standard, calculate the Standardized Mortality Ratio and
indirect standardized death rates for countries B and C. (04 marks)

(d) Do these results of direct and indirect standardized procedures tell you anything about
mortality that was not visible from the Crude Death Rates of above counties?

(04 marks)

Data obtained from 2015 World Population Data Sheet are given in the following table.
Answer the following questions, assuming that the population in all areas is growing
according to the exponential growth rate.

Area Population in Growth Doubling
Millions - rate Time
World 7,336 1.1% 63.30 years
China 13719 0.6% 116 years
Sub - Saharan Africa 949 2.3% -
India 1314 - 41 years
(a) In what year the world population will reach eight Billion?
(02 marks)
(b) What is the population growth rate for India? (02 marks)
(c) How many years will it take for the population of Sub - Saharan Africa to double?
(02 marks)
(d) Out of the followings, what will happen first?
6)) Sub - Saharan Africa will become more populous than India
(i1) Sub - Saharan Africa will become more populous than China
(06 marks)
(e) What are the assumptions underlying your answer to (c) above? (03 marks)
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05. (a)

‘f:alculate the Myer’s Index by sex.

|
The following table illustrates a part of reported age date of region ‘A’. Using these data,

(08 marks)
Terminal Digit Blended sum for | Blended sum for
Males Females
0 1794 1752
1 276 166
2 782 453
3 360 220
4 290 240
5 1560 1366
6 341 375
7 424 336
8 746 518
9 220 130
(b) Ai‘qalyse the accuracy of age data reporting of region ‘A’ by using the results in (a) above.
| (07 marks)

06. DeﬁnéL the following demographic measures and explain their importance in demographic

analysrs.

|

(a) Infant Mortality Rate (IMR)
(b) Life expectancy at birth

(©) Se>“( Ratio at birth

@E@QEEEE@

(05 marks for each)

Paoce R nf



